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dV/dt Calculation
See Sept ‘24 presentation for dV/dt calculation method

 paul_02_da_202400916_v1.pdf

Previous presentation used 100mV as the threshold voltage for disturbance to the phy

 100mV is too high

 Discussions at the Sept. 24 interim in Hamburg, Germany led to the conclusion that -101dBm between 1MHz and  
20MHz is a better threshold

 This is the alien crosstalk noise threshold 

 This noise level should lead to a 1dB reduction to SNR at the receiver

 -101dBm/Hz over 1MHz – 20MHz = 12.8mVpp

2

https://www.ieee802.org/3/da/public/0924/paul_02_da_202400916_v1.pdf


12.8mV @ receiver -> 9694V/s = 9.5V/ms

 For comment #1 use 9.5V/ms

dI/dT:

 Assume 50Ω input resistance in band of interest 

  1MHz < fin < 40MHz 

 (dV/dt) / Zin = (dI/dt)

 (9.5V / ms) / 50Ω = 190mA / ms

 For comment #2 use 190mA/ms
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Clause 189 dV / dt and dI/dt limits



Clause 104 dV/dt limits (for reference)

4



Clause 104 PD dI/dt limits (for reference)
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Numbers imply a 20Ω input resistance at the PD


	Cover Slide
	Slide 1

	Guideline
	Slide 2: dV/dt Calculation
	Slide 3: Clause 189 dV / dt and dI/dt limits
	Slide 4: Clause 104 dV/dt limits (for reference)
	Slide 5: Clause 104 PD dI/dt limits (for reference)


